Week 8

1. Frick and Frack leave the same place and walk in directions that are 45º apart. Frick walks 10 feet, and Frack walks 15 feet. How far apart are they?
2. . Find the exact value of  
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3. Joel is flying two kites at the same time. He has 20 feet of line out to one kite and 40 feet to the other. He estimates the angle between the two lines to be 60˚. Use the Law of Cosines to find the exact distance between the two kites.

4. A water tower 30 m tall is located at the top of a hill. From a distance 120 m down the hill, it is observed that the angle formed between the top and the base of the tower is 8˚. Find the exact angle of inclination of the hill. 

5. Rewrite the trigonometric expression [image: image3.png]sec(sin1x)



 as an algebraic expression in x.
1. Verify the identity: [image: image5.png]1+secx  sin*x
secx 1 - cosx



.

2. Verify algebraically that the equation is an identity: [image: image7.png])+ coslx)
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.

3. Make the trigonometric substitution [image: image9.png]X = 4secH



 in the algebraic expression [image: image11.png]


 Simplify if possible. Assume that [image: image13.png]


.

4.  Jack secures a chimney on the side of a slanted roof. The roof makes an angle of 26° with the horizontal. A wire is attached 2 m up the chimney. What length wire is needed to reach an anchor 3 m up the roof from the chimney’s base?

5. Verify the identity:   
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1. x Graph 
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2. Find 
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3. Verify the identity 
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4. An ice-skater spins at 70 rpm with her arms stretched out (length of arm: 0.6 m). a) Find the angular speed in rad/sec of her fingertips. b) Find the linear speed in m/sec of her fingertips.

5. Find the area of the sector of a circle with a 10-inch radius if the central angle of the sector is 120

_1443333748.unknown

_1450115831.unknown

_1450115868.unknown

_1450115777.unknown

_1348668768.unknown

_1442660521.unknown

